TBL TRAT: Aggregate Supply and Demand and Monetary Policy
1. What will happen to an economy at full employment if a terrorist nuclear blast in Saudi Arabia drastically reduces oil output, leading to much higher prices for gasoline?
A. Both Aggregate Demand and Supply will decrease, leading to recession and possible inflation.  In the long run the economy will return to equilibrium through a decrease in potential GDP. 
B. Aggregate Demand will decrease, leading to recession and inflation.  In the long run the economy will return to equilibrium through a decrease in wages.
C. Aggregate Supply will decrease, leading to recession and inflation.  In the long run the economy will return to equilibrium once energy prices stabilize.
D. Aggregate Demand will decrease, leading to recession and deflation.  In the long run the economy will return to equilibrium through a decrease in wages. 
E. Aggregate Supply will decrease, leading to recession and deflation.  In the long run the economy will return to equilibrium once energy prices stabilize. 
2. Keynes argued that wages tend to be “sticky downward” in the short run.  What are the macroeconomic implications of such sticky wages?
A. There are none.  In the long run all prices adjust. 
B. Sticky wages lead to faster adjustment of the labor market because they do not fluctuate as much during a recession, which dampens the impact of a recession on unemployment. 
C. Sticky wages provide evidence for the neoclassical view that unemployment reverts to its natural level without government intervention. 
D. Sticky wages lead to sticky prices, which slows the velocity of money and provides evidence against the quantity theory of money. 
E. Sticky wages lead to slower adjustment of the labor market because they do not fluctuate as much during a recession, which exacerbates the impact of a recession on unemployment. 
3. Are the data on inflation and the money supply for the U.S. from 2008 - 2016 consistent with the quantity theory of money? 
A. No, inflation has been low despite a large increase in the monetary base.
B. Yes, inflation has been high due to a large increase in the monetary base. 
C. Yes, inflation has been low due to a small change in the monetary base.
D. No, inflation has been high despite a small change in the monetary base.
E. Partially, inflation has been moderate with a large increase in the monetary base. 
4. Why do neoclassical economists tend to be inflation hawks (i.e. worry a great deal about inflation)
A. Because inflation hurts borrowers and helps savers; the decrease in borrowing lowers aggregate demand, which leads to higher unemployment.
B. Because inflation is likely to lead to greater government spending and involvement in the economy.
C. Because inflation lowers the real debt burden for borrowers, which thus incentivizes irresponsible behavior and may contribute to bubbles. 
D. Because inflation is inversely related to unemployment and may lower it below its natural level, which empowers workers’ unions and lowers corporate profits. 
E. Because inflation hurts savers and helps borrowers; the decrease in savings may then lower long term investment, which is key to productivity and long run growth. 
5. Is monetary policy sufficient to stabilize economic activity?
A. Most of the time.  Monetary policy is sufficient for small and moderate downturns, but hits limits like the zero lower bound in severe recessions. 
B. Yes, since the U.S. left the gold standard in the early 70s the Federal Reserve has been able to keep inflation under control and unemployment at reasonable levels consistently.  
C. Yes, fiscal policy is inflationary but appropriate monetary policy with a non-interventionist government keeps the economy at a stable level. 
D. Most of the time.  Monetary policy is sufficient in cases of severe and moderate downturns but is too blunt to appropriately stabilize small recessions. 
E. No. Witness the past 8 years. 
6. The basic idea of the quantity theory of money is:
A. The output level is determined by the supply of money
B. The price level is determined by the supply of money
C. The interest rate level is determined by the supply of money
D. The unemployment rate level is determined by the supply of money
E. The velocity of money increases over time.
7. The Phillips Curve shows the relationship between:
A. Unemployment rate and inflation
B. Unemployment rate and deflation
C. Government spending and Inflation 
D. Unemployment rate and national debt 
E. None of the above
8. To reduce the money supply, the Fed:
A. Buys government bonds
B. Raises taxes on individuals
C. Sells government bonds
D. Takes no action
E. Raises taxes on corporations
9. If the Fed sells government bonds, the result in the Market for loanable funds is:
A. An increase in supply and a fall in the interest rate
B. A decrease in demand and a rise in the interest rate
C. An increase in demands and a fall in the interest rate
D. A decrease in supply, and a rise in the interest rate
E. There is no effect; the Fed does not trade in this market


10.  Would returning to the gold standard be good monetary policy for the United States?
A. Yes, it would result in price stability and full employment will occur on its own as long as prices are allowed to adjust to market conditions. 
B. Yes, it would result in full employment and prices will remain relatively stable. 
C. No, it would take power away from the technocratic Federal Reserve and place it in the hands of a politicized congress.  
D. Yes, it would give the Federal Reserve credibility in their commitment to keep inflation at or below two percent.
E. No, it would result in price instability as a growing economy would not be matched by a growing money supply, resulting in deflation that could be destabilizing. 


Answer Key
1. C
2. E
3. A
4. E
5. A
6. B
7. [bookmark: _GoBack]A
8. C
9. D
10. E
